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Berechnung des Umbauten Raumes nach DIN 277
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Umbauter Raum
Kellergeschoss: 89,69 x 2,40 L 215,26 cbm
Erdgeschoss 89,69 x 3,50 = 313,92 cbm
Obergeschoss 89,69 x 3,50 = 313,92 cbm
Dachgeschoss : 10,25+7,6 x 2,50 x 8,75 = 195,39 cbm
R R
Spitzboden : 7,60 x 3,20 x 8,75 = lo6,40 cbm
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Berechnung der Wohnfldchen nach DIN 283 gy i
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Erdgeschoss: 72/
Wohnen 6,00 x 4,40 = 26,40 gm
Schlafen 3,60 x 4,35 = 15,66 gm
Kiiche 1,70 x 4,35 = 7,40 gqm
Gard. 1,20 x 2,00 = 2,40 qm
Bad 3,10 x 2,00 = 6,20 gm
58,06 qm
Obergeschoss
yohnen 5,60 x 4,50 = 25,20 qm
Kiche 1,90 x 4,50 = 8,55 qm
Schlafen 3,60 x 4,50 = 16,20 qm
Bad 1,70 x 3,00 = 5,10 qm
Flur 1510 x 1570 = 1,87 gm
56,92 qm
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= 114,98 qm



